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This one whose 7892 — 79932 7585w PT IR '7n99sRn nRvaw 1T
feeds her 7190, is it not logical that her ne> feeds her 77217n!

OVERVIEW

"217 restated the 1"p as follows: if a N°v1d AnOW where N?°IRM IR PR
even 197 "V, nevertheless 79 X923 InORA 7902; it follows that an WX
where 191 "V anoRn AnR°2 (making her ‘stronger’ than a >"w), should
certainly be 1911 &2 1n%°oKkn 11903, Our Moo challenges this 1"p on the
basis of X1°7 710X 17 and offers two explanations.

mooIn asks:
— INYY DION 17 N1 99NN ON)

And if you will say; let us invoke the rule 177 for the ‘end of the 272m ®p’ -
— N2 NOM U TINDY X2 NN NI NNN 2412195

Meaning; on account of which strength of the 7w are you deriving that

no> is 7°o81; from the power of 118°3; that fx°a is in2°2x, therefore -
—%(x,n9 91 NP N22T 72 P92 NHNNT NN 9NN NIN DN DY IN*AD 197

It is sufficient for 70> to be like 118°2, and therefore it should not be 3287
only after 7121, just like 7X°2. And a 1°7 similar to this can be found in the
second P1p of P''2 NJDN; where we say X°7 710X 7.

' From the context of this Moo it appears that N9oN is referencing the 1"p of *"2317; it would be appropriate
therefore to insert the words 1917 °"v'. See w'"R7;7 Moo and w"w.

% The "7 under discussion here (as all 1"p) has two parts, the 9p and the van. The 2p part, which is; ‘what if
a Mavid andw which 7n9%R7 7nR0a PR (the 9P), nevertheless 0ok 71902’ is also referred to as 17 n°nn;
the beginning of the 1"p. The an part which is, ‘then 7wX which 7911 °"'v 7n2°58% 7NR°2 (the 1), should
surely be 797 R?2 0?7281 11905°, is referred to as X1°7 M0; the conclusion of the 1"p. It is self understood
that the derivative ruling (in this case that 797 X2 10258 7503 by an 7wR), also known as the 717, cannot
be more (or greater, etc.) than the source (in this case that 791 X2 7n2°08% 71903 by a 3"w) also known as
the 7a%n. This is the rule of 7. We can deduce that the stronger is (certainly) as strong as the weaker;
however we cannot deduce that the stronger is even stronger than the weaker and create a ruling by the
stronger which does not (even) apply to the weaker. Our M501n maintains that we can invoke the 1°7 rule
even on the 17 70. (See "1k 7"7 X,712 p"2 nvOIN for further clarification.) The focal point of the 1"p is the
X of the stronger over the weaker. The rule of 17 argues since the cause why we are giving the stronger
this new law, is on account of the X117 it possesses, therefore the new law cannot be greater (not only than
the 7171, but not even greater) than the X1, The X117 of AWK is that 797 °"'y N8N 70K, therefore the
1" cannot accord it any other power except to have n%°38n 71905 also 71937 °"'v, but not 7971 *"'y KW,

? moon is explaining himself what is 'x2°7 710",

* There 71970 21 makes the following 1"p: If 371 7w who are 1"772 Mo (the X71p), are nevertheless 21 a
"1 in the proam mw, then 7P which is 21 a 2"772 pra *xn (the Xmm), should certainly be 21 a o%w P11 in
the P17 . The omdn argue and invoke the rule of (%17 710K) 1°7. They say the &7 of 17p is that it pays
a 1"772 1"n, then all that you can derive is that it pays a P17 Mw22 1R, but not a w"1, for that is more than
the Rmm.
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N1B0IN answers:
— “913IM9 9 799917 K32D 17 159N XY 1NINT POV 399 *920 NN 91019 Y

And one can say that here those who argue for this V"p agree with ©''9

who maintains that we do not invoke 7 whenever a 1''p is inoperative on
account of 17 -
— 9129 99 79999 197 X9N NN ON)

And if we invoke 1°7 here the 1"'{? will be inoperative.

mooIn offers an alternate solution:
— YN 127 91919 S¥aT NI NIN 97 1999NK NDT N9 8PN PWUNY 1939

And the "xyp» @''9 answers that we do not invoke 17, unless we wish to

create a new ruling -
— P 8N D390 MY 1P 9INT ONN D

For instance there in ?"2 where without the 1"p then 392 would pay a 1"'n

8573 -
— 959Y YU 99N Y1 B5Y P13 MDY N3 ANN)

And you (v"1) wish to derive that 17p pays a @"1 from a 1'"'p of ®3™ 1w, that
is where we invoke 17; a w"1 for 177 is a new law -
— 99N 909 12397 9N NINNYT NN HaN

However here where the 1910 writes that a 09> 917 eats 7170 -
5:909 1937 971 KON 929N 9PN 19 1NYY PRI IR PN

And all we derive from the 1" is what is considered a 5> 917 in such a
case even the 0°nom agree that we will not say (X317 710K) 1°7.

SUMMARY
We do not say here X1°7 10X 177 either because we agree with v"1 or there is
no (X1°7 710X) 17 by a 1"'p which is a Xn?7 "3,

THINKING IT OVER

According to the first answer of N1901n how did 2"23°7 challenge 32 32 72 with
this 1"p; perhaps 32 31 72 maintains as the o°»on do,” that we say 7 even
where 1"p 779°17!

> See 1"nx footnote # 152 for an explanation of the plural usage. See also: “Thinking it over’.

® The ruling which would follow if we invoke 1"7 would be known without the 1"j. In the case of v"7 by 17p
PTIT M3, if we say 17 and 1P is only 217 a p1°17 MWwN2 1", this would be known without any 1"'p. The 17
renders the 1" meaningless.

7 If we invoke 1°7 here, the ruling would be that 71917 *"y 7in*9xn 71902. This is known without a 1"p.

¥ See previous 71 7"7 MooIn (footnotes # 5-7) where Mo (also) states that this 1"p is merely a k02 N9,
? See 7"nx footnote # 151.
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